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Interactive Osom.mos

Three drinking glasses m: have the same area base and
are all filled to the same level. Which glass has the
greatest liquid pressure at the bottom?

@& (B (©)
A) Glass A
B) Glass B
C) Glass C |
D) All have the same pressure




Interactive Question

Consider two fish tanks that are the same height and the
same width. Tank A is 3 feet long and tank B is 6 feet
long. S, is the force on the side of tank A, and Sg is
force on the side of tank B. B, is the force on the bottom
of tank A, and By is force on the bottom of Hmbw B.

Which statement _uo_oé 1S true?

A)S, =Sy and B, =B,

B)S, =2Sg and B, =B,
C)2S, =Sz and 2B, =By
D) S, =Sy and 2B, =B;4
E) S, =2Sg and B, = 2B,
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